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212114, 2:07 PM

For H, = 67.8, Omegay = 0.310, Omegam ={(.690, z = 0.000

It is now [3.771 Gyr since the Big Bang.

The age at redshift z was 13.771 Gyr,

The light travel time was 0.000 Gyr,

The comoving radial distance, which goes into Hubble's law, is 0.0 Mpc or 0.000 Gly.

The comoving volume within redshift z is 0.000 Gpc3.
The angular size distance Dy is 0.000 Mpc or 0.000000 Gly.

This gives a scale of 0.000 kpc/".
The luminosity distance Dy is 0.0 Mpc or 0.000 Gly.

1 Gly = 1,000,000,000 light years or 9.461%102° ¢m.
I Gyr = 1,000,000,000 years.
| Mpc = 1,000,000 parsecs = 3.08568*10%4 cm, or 3,261,566 light years.

Tutorial: Part | | Part 2 | Part 3 | Part 4
FAQ | Age | Distances | Bibliography | Relativity

See the advanced and light travel time versions of the calculator.

James Schombert has written a Python version of this calculator.

Ned Wright's home page

© 1999-2008 Edward L. Wright. If you use this calculator while preparing a paper, please cite Wright (2006,
PASP, 118. 1711). Last modified on 05/09/2008 18:18:24
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